Carriage Assembly Guide ID: 59 - Draft: 2019-03-19

SeeMeCNC Guides

Carriage Assembly

Written By: SeeMeCNC

This document was generated on 2022-01-09 12:49:13 PM (MST).

© 2022 seemecnc.dozuki.com/ Page 1 of 8




Carriage Assembly Guide ID: 59 - Draft: 2019-03-19

Step 1 — Locate the Parts

@ The carriage pack is #70849

e lts contents are individually bagged as shown.

e Most of the hardware will be used during this build, pieces that are not, should be placed
somewhere safe for installation later, during final assembly of your printer.

This document was generated on 2022-01-09 12:49:13 PM (MST).

© 2022 seemecnc.dozuki.com/ Page 2 of 8



Carriage Assembly

Step 2 — Bearings and Covers

Guide ID: 59 - Draft: 2019-03-19

o Locate the (12) R4 bearings and (24) black bearing covers.

e Start by laying a sleeve half on the table, face up. Set an R4 bearing into it and firmly press it into

place.

@ Set another sleeve half on the table and press the R4 bearing and sleeve into the new sleeve half

to complete the carriage wheel.

o Note that the sleeves have a sharp edge to them where they were cut free from the bulk stock
during manufacture. Take special care not to injure yourself on this edge. It can easily be removed

with a razor knife if you so choose.

e Complete this process for all 12 of the supplied bearings.

This document was generated on 2022-01-09 12:49:13 PM (MST).

© 2022

seemecnc.dozuki.com/

Page 3 of 8



Carriage Assembly Guide ID: 59 - Draft: 2019-03-19

Step 3 — Assembling the Spring Arms (Rev. A)

& If you have the newer style of Spring Arms (implemented summer of 2018) skip to the next step!

@ The spring arms consist of an inner and outer halves that retain two of the R4 bearing rollers you
assembled in Step #2.

@ Set two R4 bearings on the inner spring arm as shown in photo #2.

o Press fit the outer spring arm on to the two small posts protruding from the inner spring arm. The fit
is very tight, but they will fit!

o In order to fully seat the pins once they're started in the holes, you can tap them in using the back
end of your screwdriver as a hammer.

o Assemble three complete sets.

This document was generated on 2022-01-09 12:49:13 PM (MST).

© 2022 seemecnc.dozuki.com/ Page 4 of 8



Carriage Assembly Guide ID: 59 - Draft: 2019-03-19

Step 4 — Assembling the Spring Arms (Rev. B)

@ The newer style of spring arms use two identical arms and two screws for assembly.

@ Press the bearings on to the post of either spring arm, as shown in the second photo.

o Use the supplied 30249 #4 x 1/2" Philips Pan Head sheet metal screws in both sides of the spring
arms to secure the bearings in place. Make sure there's no gap and the two halves are fully seated
and screwed together.

o Repeat for all three spring arm assemblies.

@ The remaining steps in this guide show photos of the older style of spring arm, but the orientation
and installation is identical between the two styles. You can follow the rest of this guide normally.

This document was generated on 2022-01-09 12:49:13 PM (MST).

© 2022 seemecnc.dozuki.com/ Page 5 of 8



Carriage Assembly Guide ID: 59 - Draft: 2019-03-19

Step 5 — Installing the Bearings

o Install two R4 bearing and a spring arm assembly on to an inner carriage half. Make sure you
match the spring arm orientation as shown - installing it backwards can damage the spring arms!

o Install the outer carriage half. Ensure that the alignment pin in that carriage half inserts into the
hole in the center of the spring arm.

@ Assemble three complete sets.

This document was generated on 2022-01-09 12:49:13 PM (MST).

© 2022 seemecnc.dozuki.com/ Page 6 of 8



Guide ID: 59 - Draft: 2019-03-19

Carriage Assembly

Step 6 — Fastening

e Fix the outer carriage half with the inner carriage half using three #4 x 1/2" sheet metal screws in
the locations indicated.

@ Tighten these screws. Do not over-tighten! There is a deliberate 1mm reveal (gap) between the two
carriage halves.

e Assemble three complete sets.

This document was generated on 2022-01-09 12:49:13 PM (MST).

© 2022 seemecnc.dozuki.com/ Page 7 of 8



Carriage Assembly Guide ID: 59 - Draft: 2019-03-19

Step 7 — Final Assembly Later

o Install the ball joint bars on the mounting pegs as shown.
e Use two #4 x 1/2" sheet metal screws and two #4 washers to secure the ball joint bar in place.

@ Assemble three complete sets.

Step 8 — Install the endstop screws

o Install the 4/40 3/4" flat head
machine screw

/A Stop turning the screw when you
feel it has bottomed out! Don't crank
it down or you'll strip the plastic!

e Assemble three complete sets.

This document was generated on 2022-01-09 12:49:13 PM (MST).

© 2022 seemecnc.dozuki.com/ Page 8 of 8



	Carriage Assembly
	Written By: SeeMeCNC
	Step 1 — Locate the Parts
	Step 2 — Bearings and Covers
	Step 3 — Assembling the Spring Arms (Rev. A)
	Step 4 — Assembling the Spring Arms (Rev. B)
	Step 5 — Installing the Bearings
	Step 6 — Fastening
	Step 7 — Final Assembly Later
	Step 8 — Install the endstop screws


